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Q.1 R 7w we &I taeTe® ¢ A FaT B sw1 3o 3 F o Pl
FuaAr § & e qaa 2

Far a1 T A RER @ aAES & awar 3R g W R @

Ans

T
1. g @we R & swsnfaa §
2. FHSAR =2 Fhol A HeoT Sauier A4 &

Consider the given question and decide which of the following statements is sufficient to
answer the question.

Does the children’s ability to grasp ideas in school depend on their intelligence?
Statements:

1. Intelligence is unaffected by bad teaching
2. Poor children do not perform well in the school

nx .
FaT FUT 1 GUT § FaSH I FUT 2 FIATT &

Statement 1 alone is sufficient while statement 2 alone is insufficient

szm13ﬂrm€rm2wﬁw%
Neither 1 nor 2 is sufficient
Fua 1 3T Fua 2 g gacg §

Both 1 and 2 are sufficient
W 4.
FaT FUF 2 AT § FaTh I HUF 1 FHIATT §

Statement 2 alone is sufficient while statement 1 alone is insufficient

X 3.

Quesio ID :9864493802
St tus :Answered
Ch senOpion:3

Q2

A s

skg ¥R # UF aFG H am H FAE T I5AT AT ¥ 3H TF T IR
T YRAFNYT & T F A fohcdalT GON? (A o 2= 10 m/s?)

A 5 kg object 1s raised through a height of 4 m. The work done by the force of gravity
acting on the object is (take g = 10 m/s%):

- 200 T
N -
20017

Quesio ID:9864493282
St tus :Answered
Ch senOpion:1
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=2007

3 e 4 A 7 feamar EEEr=ir)
. T et M a:i::zr[;}w?:h R s Question ID : 9864494172
Status : Answered

LLOR? Chosen Option : 4

In the following series, one letter is nissing as shown by the question mark (?). Select the
missing letter from the given options.

LLC,R.?

Ans x’l_x
Xy
X3 W
vau

Q4 W MF AT 4 F TN F gwerr = & wiafAfe Fwar ¥ For & F o

#r wear e 87 Question ID : 9864493675
Status : Answered
i Chosen Option :2

B Number of students

.

The bar graph represents the favorite fruits of Grade 4 students.
What is the total number of students in the class?

W Number of studens

Q.5
Question ID ;9864493064

Status : Answered
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s gl e dTamw s h sR R R ez ms 1 L ArEE S |

Chosen Option ;1

—

e e A g e 7

An echo s retumed m 3 5. What s the distance of the reflecting surface from the source,
considering the speed of sound as 342 ms™'?

ik J_stzﬂaf
513m
s 644 HIET
644 m
%3, 342 HreY
342 m
x 4 171 Hrex
171 m
Q.6

uﬁa2+:—z=33’ra’ra3+:—3=?

Ifa® + iz = 3,thena® + % =?
a a

Question ID : 9864492896
Statws : Answered
Chosen Option : 2

Ans X 1.34/5
v 22,5
X323
X 4343

Q.7

Ans

R AaslaarquraR T adi g ?
Which of the following is NOT a property of bases?

Question ID : 9864493210
Status : Answered
Chosen Option :3

-
F el & Wy wafka Fa § HR s Fgga g €

They react with acids and neutralise them

N 2
I ot foreww & e Tr A ofEfda Fa &

They turn red litmus blue

v
F A Reag Hr T T H RET =S &

They turn blue litmus red

3TeT TAE FSaT AaT &
They have bitter taste

X a.

Question ID : 9864493821
Status : Answered
Chosen Option : 3
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few 71w wqg @ faww smpfa giaw

R P |

A B c D
Select the figure which does NOT belong to the group.

R[> B |D

A B C D

Ans X 1. B

X2C
viD
X4A

Q.9

Ans

fPafai@a 39 3w A Fia-ar 357 57 @l @ & geiar § & Bde &
Ty FEgd Werd § 3 S S e o o ges 2

Question ID : 9864493871
Status : Answered
Chosen Option :2

Football | ¥

Cricket

Kabaddi - &a33t
Football - Fedre
Cricket - forepe

In the following Venn diagram which letters represents all those who play Cricket as well
as Kabaddi and also all the three games?

Kabadkh

rootball | ¥

X185 +Q
vV2s+T
X3S +R
XS +V

Q.10 T3 15fd, T 2 4=t & 25 qur 3¥E T ) T 1 TE F 12

Ans

#fEF frr =17 A 10 B § 90 = 790 £ 30 9 F IR | F 4 v
=T 2 & 15 % @@ & & e Bas B & g sk

Type 1 workers are 2.5 times as efficient as Type 2 workers. Twelve Type 1 workers can
complete a task in 10 days. How many days would it have taken 4 Type 1 and 15 Type 2

Question ID : 9864493030
Status : Not Answered
Chosen Option : -

workers to do the same work?

X113
X210

Page 4



X312
v 11

Q.11 v e ot it Eortl & ATCEA & U T TaTg & 60 ST §) OfE Tt B de v

T AR A E A & B 6T A IAT A TR 7T 8, e ey
AT & WT H ST | SH FoT gy ForT oY 39T 5 6 S sy Ay Ea
#3798 4 T2 Ul e & I A o ) TEe e T AT wRa

A sump is filled by three tankers with uniform flow. The first two tankers operating
simultaneously fill the sump in the same time during which the sump 15 filled by the third
tanker alone. The second tanker fills the sump S hours faster than the first tanker and 4
hours slower than the third tanker. The time required by the first tanker is:

x o, 165

15 hours

Q12 qaF T AT F W I FA Fr WA F I 5 0 o FAlF FIOH

Ans

AR AT F I ITA FAI B FEA F HGAS 7: 18 W [EF A FH
& ITF SR Sl HT HE W HAIS e 87
The ratio of the number of marbles that Pulak and Menaja had was 5 : 9 while the ratio of

the number of marbles that Jawam and Menaja had was 7 : 18. What is the ratio of the
number of marbles that Pulak and Jairam had?

v110:7
a2z 3
X35:7
X47:5

Q13 Rrafafla & & Pl & et & arar S Ao g A

Ans

Which of the following is not a hormone found in animals?

Q.14 wa sy R, sTRUS & & #e 1800 @ ¢ 4ty gERue & Reaag

Ans

VE T w1 # o @ o Rege o ganr ot S

A source maintains a current I in a resistor of resistance R. If V is the potential difference
across the resistor, the electrical energy dissipated in the resistor in time tis given by ___ .

X1yt

Question ID : 9864492532
Status : Not Answered
Chosen Option : --
Question ID ;9864493006
Status : Answered
Chosen Option :1
Question ID :9864493376
Status : Answered
Chosen Option :1
Question ID ;9864493305
Status : Not Answered
Chosen Option :--
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X2y
X 3 [R?t

v 1 VIt

Q15 2017 ¥ T TFs ‘THAH AT F TS F §?

Who wrote the book ‘Immortal India® published in 20177

Ll . 3rHTer Farér

Question ID : 9864492373
Staius : Answered
Chosen Option : 2

S
Amish Tripathi
x 2 AT T
Chetan Bhagat
xs. Twa @
Vikram Seth
7 A 3EET
Aravind Adiga

Q.16 7% v, R TRl | e e, 4 iex T =+ dew & e mwor /
FENE B ¥ 18 d5E ¥ A, swE A e 2t

An object, starting from rest, moves with constant acceleration of’
4 mJst. After § s, its speed is:

Question ID : 9864493219
Status : Answered
Chosen Option :3

e Kl_leﬂm';lﬁrl‘-‘rq‘?s
16 m/s
Xz_sﬁl@:ﬂﬁrﬂéﬁ
8 m/s
oS 32 A vfy A=
32 m/s
4 et 9fy A
4 m/s

X 4

Q17 AW & T% 77 ¢ e semAm v e oWt g & semEw sk B @

T EI 3T T H TR W oA &SRO S R R AT E o
& A frEar g

Consider a planet whose mass and radius are boih twice the mass and radius of Earth. The
acceleration due to gravity on the surface of the planet is n times that on Earth. The value of
nis:

Ans X1 4
X21

vi. 3
‘[35
Xa2

Question ID : 9864493220
Status : Answered
Chosen Option :3

Q.18 HiFdr=re & Foa F1 oA U7 FEA STHFAES Io9e d HAT FeA B
HRTF utEg A &7
Which type of reaction occurs when carbon burms in oxygen to give carbon dioxide?

Question ID : 9864493052
Status : Answered
Chosen Option :3
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x1 TeTeHs AfRar
Addition reaction

x 2. e fafear

Substitution reaction

g yfafEar

Combustion reaction

x4_maﬁ1ﬁm

Decomposition reaction

v

Q.19 2016 #Fr =& FE FEA U e FEar Toe emea A o
a2

The 2016 black comedy crime thriller *Udta Punjab® is loosely based on which of the
following?

Ans = ‘ -
AT H ﬂq & Icaee
)
Wheat harvest in Punjab

o uSe H aefrer werek F geheT
) Drug abuse in Punjab
, T H AT A
Child labour in Punjab
, T # e waEE
Partition problems in Punjab

X

Question ID : 9864492222
Status : Answered
Chosen Option : 2

Q.20 TF FHAGHA 1 &9%d 24 m* ¥ §WF vF fawor £ g 8 m ¥
1 woie s B ko @i

The area of a rhombus is 24 m? and the length of one of its diagonals is § m. The length of
each side of the rhombus will be:

Ans JlSm -

X210m
X34m
X 4 6m

Question ID : 9864492934
Status : Answered
Chosen Option :1

Q21

Question ID : 9864493890
Status : Answered
Chosen Option : 2
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Ans

Qp.htmi#t

9= F 5 F R 3w Pahae e # § v 5 I3 =
T AT F| 5 FHER AW fhe v S wgp v E

CEE
X

1 2
3 b P i

Use each of the following figures only once to form three groups. The three groups thus
formed are:

@@VQ

X 1(1,7), (2,5,4), (6,3)
v 2 (1,3), (2,54), (6,7)
X 3.(1,3), (2,6,4), (5,7)
X 4.(7,3), (2,54), (6,1)

Q.22

Ans

ARt SR e A S At w R
AT a2

The Magdalena River is one of the largest rivers basins of South America. Through which
country does it flow?

Wil
Brazil
Frerfear

Columbia

X 2

Question ID : 9864494490
Status :Not Answered
Chosen Option : -

Q.23

Ans

rafefas # T aF w vl 39 F Fegea ST # 38R & w9 & Iogr &ar
FATE?
Which of the following is used as a calalyst in the hydrogenation of vegetable oil?

X1 He
He

Hj
e
Ni
Ni
Pb
“Pb

Question ID : 9864493571
Status : Answered
Chosen Option : 3

Question ID : 9864493522
Status : Answered
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Chosen Option : 4

s | L
Work done by an object on application of a force would be zero if the displacement of the
object is:

Ans xl‘;@:mm

negative

TeAlcHSD
| positive
3T

neutral

AT
IR

ZETO

p

X 3.

Q25 fyafaf@a # @ #a W gt #1 gaR a7 W 7
Which of the following is the largest group of animals?

. AAcrET

Question ID : 9864493535
Status : Answered
Chosen Option :3

X 1
Nematoda

T

Porifera

3refareT
Arthropoda
HATSTERT

Mollusca

N 2

v &

X a

Q26 37 IMpla & TTA HL A FHE ¥ HafOd 74 &

EILESIEEILE!

A B c D
Select the figure which does NOT belong to the group:

SIS

A B C D
Ans X1 C
v:D
X3 A
X 4B

Question ID : 9864493887
Status : Not Answered
Chosen Option :--

Q2T s Wt éﬁﬁmﬁamﬁww 9red 2T &7

25 divided by =

Question ID : 9864492602
Status : Answered
Chosen Option : 4
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Ans 1
1. —
x 125

X 25
25
v 4125

Qe T A Wik Aefla =i & PRl F ¥ s e 7%

werFd @) Question ID : 9864494144

Status : Answered
W T WATTHS, B FET 10 dF  FgecvT FF S T 4% FEAr AR Chosen Option : 4

7

o 1 : 3=a We & v, mow st & Fofew e = 9@ 3@
i sicafes Agagt @ &

ak 2 REdt B O 3 FE F AT I IHT T
Read the following question and decide which of the given argnments isfare strong.

Question: Should CBSE introduce the refention system till Class 107

Argument 1: The foundations laid in lower classes are important for higher education.
Argument 2: It is boring fior a student to repeat the same class again.

fins Kl_maﬁzﬁrmmm

Only argument 2 is strong.
|, % 1 3K 2 gt wuE g
Both arguments 1 and 2 are strong.
AW TE 1 AT & 2 g
Neither argument 1 nor 2 is strong.

¥ 7% 1§ wUEd g
Only argument 1 is strong.

X

x

v

2*1 f@geEx 2020 Fr HiaET &7 gem? Question ID : 9864492893
What day would it be on 1 September 2020? SN Answered

Chosen Option : 2
HITeldI{
Tuesday

Wednesday

Thursday

YehdT
X 4.
Friday

Ans

v i

X 2

N 3

Q30 g & Reh segivr & 5 Ff & AT T 6000 3T 36t & 6 P F e T

5000 Rvirer fn aw & ot @ Fagr e Question ID : 9864492785

Status : Answered
Surbhi invested T 6000 for 5 months and Urba invested T 5000 for 6 months in a venture.

The ratio in which they will share the profits is:

Page 10
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Ans X 1.36:25 { Chosen Option : 4 J
R26:5
X35:6
vil:1

3 R v AT F F AR T o e o ?F'“ Question ID : 9864494255

Status : Answered

c NS Chosen Option : 4
.'_"
(7 B TR ol

Select the missing term based on the given related pair.

Ans w

Ja.m
Girl

Q.32 ¥RT Ty dWaw Fu= & Wy 39 YA vaua 97 Anterdl S e
TEET 9T & AT &7
India became the first country to partner with which global company on Disaster Response Status : Answered
Management? Chosen Option : 2

Ans XL E_ﬁﬁ

Question ID : 9864492408

Q33
Quesiion ID : 9864494317

Status : Answered
Chosen Option :2
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Ans

Qp.htmi#
ﬁgmaﬁmmﬂﬂ@a{aﬂﬁﬁsﬁam%ﬁémwaﬁeﬁ
FT W IR A B

e
il ¥ftiiied areer ¥1 Fw AsHE AR §I

et
1. i1 2feeree TeRT &
2790 A glerhite §

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:
Allthe helicopters are carners, Somea bikas are carniers,

Conclusions:
1. All the helicopters are bikes.
2 Some bikes are helicoptars

v o ar fasey 1, 7 2 HFETOT FAT B

Neither conclusion 1 nor 2 follows.

2 AT TS 2 3ERT & gl

Only conclusion 2 follows.
x A feAsHy 1 3EOT Har 2
-1

Only conclusion 1 follows.
, s 1 52 Qe SpEer Y &

Both conclusions 1 and 2 follow.

x

Q.34

Ans

4 + (1/6) [{=10x (25 — 13 — 3)} + (=5)]=?
4 + (1/6) [{-10x (25 — 13 - 3)} + (-5)])=?
X118 ¢
X229
X36
Va7

Question ID : 9864492499
Stamus : Answered
Chosen Option : 4

Q.35 FHTAR I TR F HNOT Yieeafeal i Ueh U e &1 G =1 Febell &:

Ans

Echoes may be heard more than once due to successive or multiple:

xlﬁmﬁ

Question ID : 9864493563
Status : Answered
Chosen Option : 2

Rarefactions
v:2 ACED

Reflections
x s aa=

Diffractions

Page 12
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o, FTIFAA

Refractions

Q.36 PRA@T Tva & 93 3iv Pwffa = & A= e oo 3ta a1 aew 507
I F Rv aga §
50 TEEmidEi 1 T #F A iRl @ A0 F 80% AU 3 9rA
o &7

Question ID : 9864495069
Status : Not Answered
Chosen Option : --

EiLar
1. 770 & 8% ar == 2 80% ¥ 3= 3% ara Far §
2. FET & w-faEs wer F afta F 809 ¥ #w dF g R B

Read the following question and decide which of the given statements is/are sufficient.
In a class of 50 students, how many girls scored above 80% in Maths?

Statements:
1. Exactly four boys scored above 80% in Maths,
2. One-third of the class scored above 80% in Maths.

Ans X' 1.
99T FT 3R &4 & e o fwes 1 3t o1 fwew 2w &
FEither 1 or 2 is sufficient to answer the question.
X 2
W9 & 3o 27 & fore fwew 1 3k 2 @&t w=aea &

Both 1 and 2 together are sufficient to answer the question.
v
9o F Sl 357 & [T dae [eed 1 SUicd @, SETe ae Resd 2 gaieg
agl gl
1 alone is sufficient while 2 alone is not sufficient to answer the question.
X 4.
9o # 3o & & AT Faw e 2 g § A dew Reed 1w
el gl

2 alone is sufficient while 1 alone is not sufficient to answer the question.

Q.37 2017 & T T FF W a7 7 S o, 5w Feaa awitem, A &
FEifaa R = e

Which team won the 2017 Santosh Trophy. the final of which was held in Bambolim,
Goa.

oy xl_aﬁ#ﬁ ‘

Services

West Bengal
o, TN
Goa

Question ID ;9864492229
Status : Not Answered
Chosen Option : --

Q38 3fy V/I FT AT UF T &, O s T @ o 22

If V/I is a constant, it is called:

Ans ?( N ﬁm

Question ID :9864493266
Status :Not Answered
Chosen Option :--

Potential difference

Page 13
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v A11 ar

Current

FollH
na., ™

Coulomb

. SR

Resistance

1

Q.39 % e ¥ ® T A g7 7% AU FRY R 5w Rt = 8wt @ Pt Bew
e

Ans

T
w5 g e 6 b ) Fo R g 6 owh g pa b
et

. T W T E
ol R g E

. G e

- W o e it B

S U

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statement:
No dog is a cal. Some cats are rats. All rats are pigs.
Conclusions:

1. All dogs are rats
2. All pigs are rats

3. Some pigs are eats
4. No pigisadog

| o TRy 4 JrepeRor e ¥
| Only conclusion 4 follows
 arer farssd 3 JfETOT T @
) Only conclusion 3 follows

3aﬁﬂﬁw&13ﬂ133§mwm§

Only conclusion 1 and 3 follows
Faar fased 1 3T 2 reEor wd €
4.

Only conclusion 1 and 2 follows

X

v

x

X

Question ID : 9864493767
Status : Answered
Chosen Option : 2

0 O gt # F FlT @ gE §gFT 87

Ans

Which of the following numbers is composite?

Question ID : 9864493005
Status : Answered
Chosen Option :2

v 47
X 257
X337
X 4. 67

Q41 ﬂ&eﬁwﬁﬁwmazmaﬁm?mﬁ#mm

Ans

Which city in Australia is hosted the 2018 Commonwealth Games?

Question ID : 9864492210
Status : Answered
Chosen Option :1
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B Gold Coast
X 4. IYELCES
Adelaide

Q42 fig ¥ # FAW 39YFA Aehod 8L | Question ID : 9864493474

U A IHETEM A I W BARaT g s v ¢ | Status : Answered
Fill in the blank with the most appropriate option. Chosen Option :2

An element attains stabillty when it achieves state.
Ana FIoT T STolT
X1 -
an only-duplet

z_a‘lﬁsrua?aﬁa%z

an only-octet

TF T AT AT
3.

a duplet or octet

4_@%’%

a heptate

x

v

x

Q.43
Question ID : 9864494177

Status : Not Answered
Chosen Option ;-
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Ans

Qp.htmi#t

Sales of Bikes in india as per the Colourin

Red- &TH

Yellow- 9T
afy 2009 # & 7§ FAe-wnfaa & g9 = 6,000 6, & v
T HEHE & HEew, fRR O #r Aer-wnteel 51 FEe wwm A
&= oar

hmd!mhlndhuwthmln

o™

k-1

-
II'II.‘II

Mur  Groes Goldes Brows Bk siher Whae  Red  Velow

1f the total number of bikes sold in 2009 was 6000,
thent Accordmg 1o the given data, bikes of which
colours were sokd equally?

v &%

50 3R FEr T dr v w@w HR W T
Brown and black put together and green

X 2

drer Ht & T v Ay AR BT #r
Yellow and green put together and golden

X a.
drer 3R & T A vE wny AR gerd o dr
Blue and green put together and golden

X 4.

Ta AR @ 1w ' AR gaEed o i
Silver and green put together and golden

Q.44

Ans

WA He & R wANE F g & F guw-siEar Reww FERe & o
& ¥ # Pgew e mn 2

Which American of Tndian descent has recenily been appointed as the President of the
US=India Business Council?

Question ID : 9864492215
Status : Answered
Chosen Option :1

EIGIRACGEU
- P 9.9

Nina Davuluri
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72 forem 2urg RTEaTer
Nisha Desai Biswal

w4 9 TSl

Prith Banerjee

oA oY

Asim Ghosh

X a.

Q.45 IR ama A 3 B' F1 Toree A A 157, 297 2p¥, 3s' M 1s?, 257 2p5, 357 3p*. &
7t 5T deat & U JaTT TS TEe TP a1 G . g
If the eleetronic eonfipuration of elements A° and B’ are 15°_ 257 2p® 3% and 152, 25°

2p%, 35 3p*,, respectively, then the formula of the compound formed by the combination
of these elements will be:

Ans X 1. AB,
X 2. AB,
v 3 A,B
X 4 AB

Question ID : 9864493108
Status : Answered
Chosen Option :3

Q.46 ¥fia v Rg wiaach &1 spuner 3 eierar sndeé 1 power, Reg v sd
oiterer HiT wfEa #1 Fw A & 2

Amit and Ritu are a couple. Mrinal and Shonal are brothers. Mrinal is the brother of Ritu.
How is Shonal related to Amit?

e v T S J/ TV FAQS/ A
Brother-in-law
- A 311?
Brother
3 T ST/ FERT AT
Cousin

xdﬂ’ﬁm’ ATHI GE A\ arF

Uncle

Question ID : 9864494291
Status : Answered
Chosen Option :1

QA7 srr=ht-gr-mm # wE & T F ORS # TEen SEF T ST TuA
FEr

Vasco-Dia-Gama became the first European 1o set foot in India via the sea in

Ans 2 1.1488
X 2.1489

v 31498
X 4.1499

Question ID : 9864492109
Status : Answered
Chosen Option :3

Q.48

Question ID ;9864494054
Status : Answered
Chosen Option :2
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o & 7% Il F F 91 T AT T AR VAT A WHE q Food
gy g

BAaOH
*=¢8

If three groups could be formed using the given figures only once, these groups would be

EAQTH
e

. x . (196), (257) 3R (3,4.8)
(19.6), (2,5.7) and (3,4,8)

v (198), 247) 3 (358
(1,9.6). (2,4.7) and (3,5,8)

s (1,5,6), (3,4,7) 3 (2,9,8)
(1,5,6). (3,4,7) and (2,9,8)

<, (196), (2:4.8) 3T (3,5,7)
(1,9,6). (2,4.8) and (3,5,7)

.49
° @ ‘e.» g Question ID : 9864494005

Tz‘)—ﬁ Status : Answered
Q
e

[::] Chosen Option :4
& -]

v Rl @ FEF vE AW ITET F0E A FAg aT S At 3 JEg

kY
die][m=
TR[0

2

If three groups could be formed using the given figures only once, these groups would be

- o (9,3,6), (2,5,7) 3T (1,4,8)
(9,3,6), (2,5,7) and (1,4,8)

<, (836), (247) 3T (1,5,9)
(8.3,6). (2.,4,7) and (1,5,9)

s (9,3,7), (2,4,6) 3T (1,5,8)

(9.3.7). (2.4.6) and (1,5.8)
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4. 836, 247) 3 (159
(9.3.6), (2,4,7) and (1,5,8)

Q50 HFHARIH Ea A TR VAR T S e B s FRo ok
T ST Rl

Burning Magnesium ribbon produces white ash, which dissolves in water fo form 3

Question ID : 9864493089
Status :Not Answered
Chosen Option : --

= 1 AT goresy
Magnesium Halides

§ Arhfrrs Haaree
Magnesium Oxide

| TR EEaEs
Magnesium Hydroxide

, HIERITH Hethe

Magnesium Sulphate

x

v

x

Q.51 TF ZFWER 3T AEFI T 20% T &HT #11 25% T AT I 8| FH TF F1
i Hoa a7 2T P 4 e geer & e T 600 8

A shopkeeper allows a discount of 20% to his customers and still gains 25%. Find the
Marked price of an article which costs T 500 to the shopkeeper.

Question ID ;9864492488
Status : Answered
Chosen Option :1

Ans  of 1. % 0937.50
X 23937
X 3.T930
X 4T 1,000

21, 55, 19, 50, 17, 45, ?

Question ID : 9864493648
Status : Answered
Chosen Option : 4

Choose the correct alternative which will complete the following serics:

21, 55,19, 50,17,45,7?
Ans X112
X214
X313
v 15

Q53 afrsin' 4 —cos'd = 1 Bt & @A i A wmaem (0 < 4 = 90
If sin* A — cos*A = 1 then ‘;—in Degrees is (0 < A < 90°)

Ans ?( 1. 60

Question ID : 9864492496
Status : Answered

Chosen Option :2

v 2 45
X 340

Q52 3w W Fae 31 Tt St PR AT # Q@ T
X 430

Q.54

Question ID : 9864493668 ‘
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e o e FET F wE A ge 9 o X wee & #la d ot Status : Answered
& TRhERT €9 W I & @ 8 Chosen Option : 3
FUa:

a1 ;J'cﬁ amaaidy da 3

et
1. faed & foRelr oft &or 7 WTEET o A6 2
2. fm & & 3= Gt F AR awe g

Consider the given stat=ments to be true and decide which of the conclusions logically
follow(s) from the staternents.

Statement:
China is a communist country

Conclusions:

1. No country mn tha world has a communist rule.
2. Many other countries in the world have a communst rule.

Ans xlﬂﬁﬁﬁfﬁﬁﬂ‘mﬂws’rm%

Only conclusion 1 follows

2_?ra’H HR A 2 T I ) @I &

Neither 1 nor 2 follows

xsa‘fﬂaﬁﬁﬁt‘mﬂw@rm%

Only conclusion 2 follows

4I13ﬂ12a7rﬁrﬁma?rg‘rmg

Both 1 and 2 follow

v

x

Q.55 X T Y 37 H7 B gu d, of FrygE B R F 225° FEar ¥ Ak v wd Frgd ) :
% faodie 90° o1 {5 AT §1 HE X & WA wlad Ran gy Question ID : 9864494387

Facing South, X turns 225° clockwise and then 90° anti-clockwise. What direction is X Sipus: Answearsd
facing now? Chosen Option :3

Ans a%UT qﬁﬂn
™ 1.
South-West

South-East

Q¢ Gwer & il & JFAE oA FEEoS T&T F I & Question ID : 9864493118
The group of crop plants that are vegetatively propagated is: Status : Not Answered

Ans x mﬁém-}ﬂ?m | Chosen Option :--
1.

potato, papaya and banana
oA, T HIT Fhelr
2.

sugarcane, potato and banana

v
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. HITwe, TESAA AR FI]
groundnut, drumstick and cashew nut
4.

onion, coriander and lime

x

x

Q57 faw 1T Aeeal H ¥ §EfOT e & 99 T

g sfagm s amf@a 2
Select the related word from the alternatives.
Nation : History : : Man: __ ?
Ans Eﬂiﬁ-ﬂ'
v
Biography

o, =
Geography

39419
Novel

X 4.

Question ID : 9864493783
Status : Answered
Chosen Option : 1

Q.58 fat uF Wiem & &7 IS4 @ & VT, @A F WA £
Who first discovered that every eighth element had properties similar to that of the first?

Ans mﬂ‘g
i &
Newlands
Aol
Moseley

TR
Dobereiner
Heell T
Mendeleev

X 2

X a.

X a

Question ID : 9864493273
Status : Answered
Chosen Option :1

2% falt onyge 3 fobey Ryawot @

The number of diagonals in a decagon is:
Ans X 1. 20
X210
X 3 25
v 4 35

Question ID : 9864492675
Status : Answered
Chosen Option :4

Q.60

Question ID : 9864492674
Status : Answered
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Chosen Option : 2

HOA 1 AT T F A & ayEt § oA T F o 80S0 F AT =R

The sum of the lengths of the edges of a cube is equal to the perimeter of a square. If the
numerical value of the volume of the cube is equal to the numerical value of the arca of
the square, then the length of one side of the square is:

Ans x i 30 53:'%
30 units
y gsa;ré'
9 units
i 27 SFIS
27 units
x4 12 TS

12 units

Q.61 ¥IHA FHEW & TR (HYIAT 2018 EER) 37 WS Hie 32
Who is the current (as of Febmary 2018) Deputy Speaker of the Indian Lok Sabha?

Ans
i, &. TREEHAA

Question D : 9864492327
Status : Answered
Chosen Option : 2

K Parasuraman
72 TH. uﬁg&ré
M Thambidurai
. agﬂﬁr JIHSTH
Anbumani Ramadoss

, . BT
V Sathyabhama

X

Q.62 iy fareh wlter ¥ WHA @ F T 34% & ae T sTEeTEaT & ar 40 F(

F Fraa s #1 sTEvTEAr ant Question ID : 9864492886
If one needs to score 34% to pass a test. the pass marks out of 40 would be: Status : Answered
Ans x 1. 13 2 Chosen Option : 3
X214.2
v':13.6
X114.6
Q.63

Question ID ;9864494206
Status : Answered
Chosen Option : 1
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& IS AEen H IIa AT F 97 H

K& § 0
a b c d
Select the odd figure one out the given sertes.

K& § 4
a b [ d
s

X 3e
Xab

Q.64 U 2 @ wy Aan & H au w1 B Q) o mrnaH A 9 3ed s @
ifga & (@)

Question ID : 9864494195
Status : Answered
Chosen Option :1

FY:
IR FARTS AR § Awcas w9l ¥ @eE & #1301 §)

=

Hle= T

1. BHMER 9T FEETHS Tgell ) gorenr A uge AadiicHs dga sl &)
FARR FE
2. FERIFR TEORT W FRRICRD TEepit H e 7 e st B

Consider the given statement and decida which of the piven assumptions 1s (are) implicit.

Statement:

The sarials/soaps are a reason for developing negative tendencias in womer.

Assumptions:
I: Newspapers hughlight the nagative aspects first then the positive aspects.
II* The attention for nepative aspeets is much higher than positiva aspects.

Ans xluﬂizfﬂ?ﬁiﬁﬁaaﬁ%l

Neither assumption I nor II 1s implicit.
L Fael AAAT 2 @Wfed g1

Only assumption II 1s implicit.
. Fad AAar 1 &fRa gl

| Only assumption I 1s implicit.

v

x
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413%:26’!?#%%‘!

Both assumptions I and II are implicit.

x

Q65 Ffoger JATer &1 Aller FENT ATIHT fhaell T 87
What is the standard room temperature in Kelvin?

ans of 198 K

Question ID : 9864493627
Status : Answered
Chosen Option : 3

X 2198 K
X 3273 K
X4373 K

U0 HTET-aTACE FHH g TgT AT e

The primitive atmosphere was reducing because:

Status :Not Answered
Chosen Option :--

R s HECECRE I e
| Hydrogen atoms were few
v &3
grEsistet STATY] Wiea o 3 3l s #

Hydrogen atoms were active and in greater numbers
ATrETSTeT AT 370 &

Oxygen atoms were more

o4 AFEIA TTATY] 3T |

Nitrogen atoms were more

X 3

“"BR4AQ16HI
Fo R R & gdor ofy T e

Question ID ;9864493796
Status : Answered
Chosen Option : 2

BR4AQ16HI

The mirror image of the above figure is

" X |HIrQAMRSE
v:IHBTOAPHE
“+IH3IQAMRE
x+IH6E1QA4RB

Q.68 A ¥ HEw T wgFs Fa £, Sl swadr 2018  smwen Frdaw
ageT R 7
Who is the Chief Election Commissioner of India who took charge in Januvary 20187

Question ID : 9864492304
Status : Answered
Chosen Option : 2

ns xlwm

Subramanian Swamy

Question ID : 9864493157
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2

Ranjit Kumar
7 T Y1l I

Om Prakash Rawat
TﬂTm e

_ Raghuram Rajan

X

X a

Qp.htmi#t

Q89 45 30 31X 35 & .9, fargar 872
The LCM of the three numbers 45, 30 and 35 is:

Question ID
Status
Chosen Option

19864493003
:Answered
11

Ans o 1. 630
X 2420
X 3180
X 4840

Question ID
Status

Chosen Option :

19864492701
:Answered

3

Xa=

QIlTF IFies e I 5™ 5, 6, T WS T Ao B s ¥ &t =
AHe # 4 9 94T g1 O el mewnst F F wew ol wem SiEa 22

A natural number, when divided by 5, 6, 7 or 8, leaves a remainder of 4 in cach case.
What is the smallest of all such numbers?

Question ID
Status

Chosen Option :

19864492862
:Answered
3

Ans X 1214
X2 424
V'3 844
X 41264

Q72 fraafof@a s/eelr & ¥ Heuiwd 3R & 999 |

UuolL?2A

Question ID
Status

Chosen Option :

19864493964

:Answered
4

Select the lefter missing from the following series.

U,0,L7%A
Ans X:LD
X2Q
X3P
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v i E

Q.73 A, B & FoAaw A G Aol ¥ FE F BT 1 A 3N C vF F, B Fon A T

T At A F w wRe §1 3R AL B 3 ¢ Pee om w0 Rt A e Question K:0864402520
w &, 2 39 § Il ) 9 i A e R s Stals : Arwered
A can work twice as fast as B, A and € together can work three times as fastas B, 1f A, B Chosen Option : 2

and C complete a job in 30 days working fogether, in how many days can each of them

complets the work.

Ans X' 150,100,120
v 2 60,120,120
X 3.60,100,80
X 4. 40,80,100

Q.74 ¥ =t TF RARTT T F =7 ¥ R F T 397 # afer & ofy O

# 3T 6000 & & 7 A Fr derAnw == @i Question ID :9864493903
—" Status : Answered

Chasen Option :3

Sugar-&mWheat-ﬂiRine»m%em-&Fﬂ

The pie chart represents the annual yield in tons of a certain place, If the vield of sugar is
6000 tons then the vield of wheat will be tons.

ans X'1.7200
X 2.7000
v 2 7500
X 2 6800

Q75 AR WA 6x-5y + 11 = 0T 15k + ky-9 - O T FS g A G A k
& A Tt B2 Question ID : 9864492936

If the equations 6z - 5y + 11 = Oand 15x + ky - 9 = 0 have na solution, then the e
value of k is: Chosen Option :3

Ans X' 1 _ 18
X 2125
vsa-125

X418
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